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Candidates are required to give their answers in their
own words as far as practicable.

UNIT-1
(Marks : 30)
1. Answer any five from the following questions:
2x5=10

a) Define Social Geography.
b) What is Varnasram System?
c) What is class?
d) What is caste?

e) Mention any two factors that are responsible for

reducing the rigidity of caste system in India.

f) Name any four traits that help in identifying the
major racial groups in the world.

[Turn over]

g) What is an ethnic religion?
h) Identify any two barriers of social change in India.

2. Answer any two from the following questions:
5x2=10

a) Define society and highlight its characteristics.
b) Give the concept of social group with example.

c) Highlight the Salient features of Mongoloid
group.
d) Specify the different Social Processes.

3. Answer any one from the following questions:
10x1=10

a) Discuss the scope and content of social
geography.

b) Discuss the nature of social stratification in India.

UNIT-II
(Marks : 30)

4. Answer any five from the following questions:
2x5=10

a) What is meant by Standard of Living?
b) What is Deprivation?
c) What is meant by Social Pathology?
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d)
¢)

f)
g)

h)

Give four examples of Deviant Behaviour.

Give the concept of Social Impact Assessment
(SIA).

What is violence against women?

What is the importance of study of crime in

Geography?

Write two importance of Social Inclusion.

5. Answer any two from the following questions:

a)
b)

c)

d)

5x2=10
Give the concept of Quality of Life.

State the importance of Social Impact Assessment

for indigenous people.

Discuss about the social implication of Sarva
Siksha Abhiyan (SSA) Policy in India.

Explain the concept of Social Exclusion.

6. Answer any one from the following questions:

a)

b)

10x1=10

Disuss the indicators of social well-being after
Smith.

Describe the major goals and components of
NRHM in India.
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